

Compare Responses

Event #: 5413

Event Name: Sewer Backup Cleaning Services

Number Of Lines: 17

Status: Pending Award

	DW Restoration, LLC Deidre Weiss	Harvin Holdings, LLC Allyson Harvin
Performance Evaluation Score	(Award All valid only when output is same for all lines)	(Award All valid only when output is same for all lines)
Supplier Total Bid Amount	41,105.00	26,171.00
Total Event Score		
Line 1:Open:105584 Output: Contract		
Award Quantity 0.0000	0.0000	0.0000
Line Quantity 10.0000 EA	10.0000	10.0000
UnitPrice	95.00000	
ExtendedPrice	950.00	
Total Line Score		
Delivery Date		
UOM Detail		Each
Vendor Item		105584
Vendor Item Description		Service Call (No Work)
Line 2:Open:105585 Output: Contract		
Award Quantity 0.0000	0.0000	0.0000
Line Quantity 10.0000 EA	10.0000	10.0000
UnitPrice	125.00000	75.00000

Compare Responses continued...

ExtendedPrice	1,250.00	750.00
Total Line Score		
Delivery Date		
UOM Detail		Each
Vendor Item		105585
Vendor Item Description		Outside Business Hrs Response
Line 3:Open:105586 Output: Contract		
Award Quantity 0.0000	0.0000	0.0000
Line Quantity 10000.0000 SF	10,000.0000	10,000.0000
UnitPrice	0.96000	0.21000
ExtendedPrice	9,600.00	2,100.00
Total Line Score		
Delivery Date		
UOM Detail		Square Feet
Vendor Item		105586
Vendor Item Description		Water Extraction (SQ FT)
Line 4:Open:105587 Output: Contract		
Award Quantity 0.0000	0.0000	0.0000
Line Quantity 10000.0000 SF	10,000.0000	10,000.0000
UnitPrice	0.23000	0.19000
ExtendedPrice	2,300.00	1,900.00
Total Line Score		

Compare Responses continued...

Delivery Date		
UOM Detail		Square Feet
Vendor Item		105587
Vendor Item Description		Floor Sanitizing (Per SQ Ft)
Line 5:Open:105588 Output: Contract		
Award Quantity 0.0000	0.0000	0.0000
Line Quantity 3000.0000 SF	3,000.0000	3,000.0000
UnitPrice	0.35000	0.71000
ExtendedPrice	1,050.00	2,130.00
Total Line Score		
Delivery Date		
UOM Detail		Square Feet
Vendor Item		105588
Vendor Item Description		Glue-Down Carpet Removal
Line 6:Open:105589 Output: Contract		
Award Quantity 0.0000	0.0000	0.0000
Line Quantity 5000.0000 SF	5,000.0000	5,000.0000
UnitPrice	1.10000	0.40000
ExtendedPrice	5,500.00	2,000.00
Total Line Score		
Delivery Date		
UOM Detail		Square Feet
Vendor Item		105589

Compare Responses continued...

Vendor Item Description		Carpet & Pad Removal
Line 7:Open:105590 Output: Contract Award Quantity 0.0000 Line Quantity 3000.0000 SF UnitPrice ExtendedPrice Total Line Score Delivery Date UOM Detail Vendor Item Vendor Item Description	 0.0000 3,000.0000 0.35000 1,050.00 	 0.0000 3,000.0000 0.28000 840.00 105590 CARPET LIFT
Line 8:Open:105591 Output: Contract Award Quantity 0.0000 Line Quantity 3000.0000 SF UnitPrice ExtendedPrice Total Line Score Delivery Date UOM Detail Vendor Item Vendor Item Description	 0.0000 3,000.0000 0.36000 1,080.00 	 0.0000 3,000.0000 0.65000 1,950.00 Square Feet 105591 Carpet Relay
Line 9:Open:105592 Output: Contract		

Compare Responses continued...

Award Quantity 0.0000	0.0000	0.0000
Line Quantity 40.0000 DA	40.0000	40.0000
UnitPrice	115.00000	107.03000
ExtendedPrice	4,600.00	4,281.20
Total Line Score		
Delivery Date		
UOM Detail		Per Day
Vendor Item		105592
Vendor Item Description		Air Scrubber
Line 10:Open:105593 Output: Contract		
Award Quantity 0.0000	0.0000	0.0000
Line Quantity 40.0000 DA	40.0000	40.0000
UnitPrice	35.00000	27.12000
ExtendedPrice	1,400.00	1,084.80
Total Line Score		
Delivery Date		
UOM Detail		Per Day
Vendor Item		105593
Vendor Item Description		Air Mover
Line 11:Open:105594 Output: Contract		
Award Quantity 0.0000	0.0000	0.0000
Line Quantity 40.0000 DA	40.0000	40.0000
UnitPrice	115.00000	71.00000

Compare Responses continued...

ExtendedPrice Total Line Score Delivery Date UOM Detail Vendor Item Vendor Item Description	<p>4,600.00</p>	<p>2,840.00</p> <p>Per Day</p> <p>105594</p> <p>Dehumidifier</p>
Line 12:Open:105595 Output: Contract Award Quantity 0.0000 Line Quantity 5000.0000 SF UnitPrice ExtendedPrice Total Line Score Delivery Date UOM Detail Vendor Item Vendor Item Description	<p>0.0000</p> <p>5,000.0000</p> <p>0.20000</p> <p>1,000.00</p>	<p>0.0000</p> <p>5,000.0000</p> <p>0.28000</p> <p>1,400.00</p> <p>Square Feet</p> <p>105595</p> <p>Carpet Cleaning (per Sq Ft)</p>
Line 13:Open:TILE REMOVAL AND DISPOSAL Output: Contract Award Quantity 0.0000 Line Quantity 500.0000 SF UnitPrice ExtendedPrice Total Line Score	<p>0.0000</p> <p>500.0000</p> <p>1.75000</p> <p>875.00</p>	<p>0.0000</p> <p>500.0000</p> <p>1.11000</p> <p>555.00</p>

Compare Responses continued...

Delivery Date UOM Detail Vendor Item Vendor Item Description		Square Feet TILE REMOVAL AND DISPOSAL Tile Removal and Disposal
Line 14:Open:BASEBOARD REMOVAL Output: Contract Award Quantity 0.0000 Line Quantity 1000.0000 SF UnitPrice ExtendedPrice Total Line Score Delivery Date UOM Detail Vendor Item Vendor Item Description	0.0000 1,000.0000 0.40000 400.00 	0.0000 1,000.0000 0.35000 350.00 Square Feet BASEBOARD REMOVAL AND DISPOSAL Baseboard Removal
Line 15:Open:REMOVE CARPET TACK STRIP Output: Contract Award Quantity 0.0000 Line Quantity 1000.0000 SF UnitPrice ExtendedPrice Total Line Score Delivery Date UOM Detail Vendor Item	0.0000 1,000.0000 0.35000 350.00 	0.0000 1,000.0000 0.69000 690.00 Square Feet REMOVE CARPET TACK STRIP

